Chapter 3
For technical assistance with ACL, please contact technical support: 604-669-4225; info@acl.com; 

http://www.acl.com/supportcenter/
Tutorial Assignment (Estimated time to complete the chapter 3 tutor is 20-30 minutes.)
Read and complete the tasks in Chapter 3: Set up Your Project of the ACL Tutor
Hint: Staying actively involved while completing the tutorial assignment will help you to complete the ACL problems more efficiently. You may find it helpful to review the assigned problems before completing the Tutorial Assignment.

For instructions on accessing the ACL Tutor please see earlier assignments.

(Note: Unless otherwise instructed, please submit your answers to the following exercises and problems to your instructor in a word processing document.)

Chapter 3 Tutorial Exercises: 1-2
There are two questions at the end of the Chapter 3 tutorial. Your instructor will inform you which, if any, of the exercises to complete and submit. 

Problem 1
Edit the layout of the Employee_List table to form a new column for total compensation (salary plus bonus). Now determine how many employees earned more than $85,000 in total compensation in 2002.
Problem 2
Roger Company is a mid-size company located in the Midwest that handles the distribution of various home and garden products. You are part of the engagement team assigned to audit the financial statements of Roger Company. Roger Company has been a client of your firm for many years, and your firm has rarely encountered any problems with them. However, the engagement partner has made it very clear to you that there is no room for mistakes. Your tasks as one of the auditors on the engagement are outlined below and in other problems of the remaining chapters.

Please download the Roger Company ACL files, found under Course-Wide Content on the Student Edition of your text’s Online Learning Center.
Net income before taxes at Roger Company is stable, predictable, and representative of its size. Thus, the auditors at Roger Company calculate materiality to be 5 percent of net income before taxes. Net income before taxes at Roger Company for fiscal 2004 is $1,388,500. Determine materiality for the audit of Roger Company’s 2004 financial statements. Use ACL to determine if the reported AR account balance, $487,000, is materially different from the detailed files in Rogers_Company_AR table. Define tolerable misstatement as 60 percent of materiality. What might cause differences between the number reported in the financial statements and the details in the file?

Problem 3

As a quality control procedure, management at Roger Company reviews each approved vendor at least once a year. In the reviews, management compares pricing across vendors, retests products being purchased from vendors to ensure they meet quality control standards, and performs testing to ensure purchasing personnel are not inappropriately favoring a vendor or potentially colluding with vendors (e.g., receiving kickbacks from the vendors). Use ACL to check the Roger_Company_Vendors table to make sure each vendor has been reviewed sometime since January 1, 2004.

1. Open the Roger_Company_Vendors table

2. Click on the Edit View Filter button to open the Edit view filter dialogue box

3. In the Available Fields list, double-click on the Last_Review field

4. Click on the “<” sign

5. Click on the Date button to display the date selector

6. Click on the down arrow, find January 1, 2004, click on it, and click OK

7. Click OK

8. Which vendors have not been reviewed since January 1, 2004? When was the last review for those vendors?

